
Maria Splitt  Only for informational purpose, will not be replaced in case of changes Print Date:  4/03/2013 4:08 PM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
2003782 4 551814 Slitting machine DCH 180-SL 230V  

RUS
15.06.2012 USD / 350327 / * / G 1/6

  
 

Z-No Mat-No. Change Master Quantity Unit Description Specification Order Type Status

1 203190 1 PC Chuck DCH 180-SL packed

2 390880 1 PC Nut M14/SW24

3 329726 1 PC Screw M6x65-12.9 custom made

4 203189 1 PC Spade grip packed

5 390581 2 PC Torx-soc tapt scr M10x30, SN140 black

6 287125 1 PC Cap

7 391178 4 PC Torx-soc re scr SN65 5X60 blackST-GAL.ZNFE5F
+DELTACOLL - SCHW

8 276440 1 PC O-ring 65X2N-NBR70

9 215730 1 PC Adhesive label DCH 180-SL kit

10 2004801 1 PC Rating plate DCH 180 -SL 230V

11 237762 4 PC Torx-soc re scr SN65 5X25 blackST -
GAL.ZNFE5F+DELTACOLL-SCHW

12 207960 9 PC Torx-soc re scr SN65 4X18 blackST-GAL.ZNFE5F
+DELTACOLL - SCHW

16 237739 1 PC Washer 3MM

17 237740 1 PC Washer 6MM

18 237741 1 PC Washer 13MM

19 237742 1 PC Washer 21MM

24 2021798 1 PC Protective cover DCH 180-SL packed

25 203384 1 PC Protective cover DCH 180-SL kit

26 392415 1 PC Depth gauge 180 assy

27 392483 1 PC Leaf spring

28 393718 1 PC Staple bedruckt



Maria Splitt  Only for informational purpose, will not be replaced in case of changes Print Date:  4/03/2013 4:08 PM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
2003782 4 551814 Slitting machine DCH 180-SL 230V  

RUS
15.06.2012 USD / 350327 / * / G 2/6

  
 

Z-No Mat-No. Change Master Quantity Unit Description Specification Order Type Status

29 345158 1 PC Rotary shaft seal
14,8x25x714,8X25X7BAUM1X27, FPM

30 203194 1 PC Gearing M14 packed

31 203197 1 PC Driver blade packed

32 203196 1 PC Set of toothed gears 40 packed

33 70416 1 PC Circlip 12X1FED-ST - PHOSPHAT.&GEÖLT

34 326987 2 PC Needle race 12X16X10STAHL - HK1210

35 343803 1 PC O-ring 48X2

36 261921 2 PC Hex skt hd cap screw M8X25 mc8.8 - A2K -
SPEDCAPS 85

37 287106 1 PC Rotary shaft seal
25x40x7025X040X07BAUM3X7, 75FPM585

38 287104 1 PC Supporting washer 26x39,7x2

39 202156 1 PC Circlip 40X1.75FED-ST -

40 203199 1 PC Bearing plate assy packed

41 390006 1 PC Ball bearing 10x35x11

42 287286 1 PC Shim ring 25X35X1.5ST 2K50 - GEÖLT

43 287284 1 PC Circlip JL35-BLS

44 51154 1 PC Dowel pin 5m6X16ST-GEHÄRTET,
GESCHLIFFEN

45 287114 1 PC Bushing

50 390139 1 PC Air deflector

51 279521 1 PC Stator 220V-240V assy

52 279693 2 PC Staple

54 287122 1 PC Spacing ring



Maria Splitt  Only for informational purpose, will not be replaced in case of changes Print Date:  4/03/2013 4:08 PM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
2003782 4 551814 Slitting machine DCH 180-SL 230V  

RUS
15.06.2012 USD / 350327 / * / G 3/6

  
 

Z-No Mat-No. Change Master Quantity Unit Description Specification Order Type Status

55 203382 1 PC Rotor 220V - 240V packed

56 93862 1 PC Ball bearing 8X22X7

57 287093 1 PC Motor housing

58 93884 1 PC Ring KOLLEKTORSEIT.

59 282143 2 PC Brush holder assy

60 93903 1 PC Slotted tapping screw C 3,9X13

61 341089 5 PC Recess tapping screw ST3,9X13-C-Z

62 390140 1 PC Terminal tab Meldelitze

63 393596 1 PC Carbon brush 6,3x16x22 220V-240V set

64 328875 1 PC Flexible conductor Melde

65 412400 2 PC Brush cap assy

70 203198 1 PC Grip packed

71 47021 2 PC Plug

72 328497 1 PC Terminal block Typ500/3 35

73 328523 1 PC Electronics assy

74 287613 1 PC Switch packed

75 328521 1 PC Cover printed

76 328524 1 PC Lightguide

77 393701 1 PC Terminal block TYP1000/3 DSS

79 206429 1 PC Clamp

80 208107 1 PC Protective sleeve 12MM

81 2019164 1 PC Supply cord EUR 2x1,5 5m assy

82 329249 1 PC Setting lever assy



Maria Splitt  Only for informational purpose, will not be replaced in case of changes Print Date:  4/03/2013 4:08 PM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
2003782 4 551814 Slitting machine DCH 180-SL 230V  

RUS
15.06.2012 USD / 350327 / * / G 4/6

  
 

Z-No Mat-No. Change Master Quantity Unit Description Specification Order Type Status

83 328648 1 PC Release lever

84 328699 1 PC Torsion spring

90 400764 1 PC Installation wrench SW 24/10

91 50965 1 PC Screw driver 6SCHW

96 390531 1 PC Slide sheet

600 430817 1 PC Label RFID

716 280101 1 PC Oil Kluebersinth GH 6-80 5L

811 203086 1 PC Grease 50 ML

826 280102 1 PC Grease PETAMO GHY 133 N 400G
 



Maria Splitt  Only for informational purpose, will not be replaced in case of changes Print Date:  4/03/2013 4:08 PM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
2003782 4 551814 Slitting machine DCH 180-SL 230V  

RUS
15.06.2012 USD / 350327 / * / G 5/6

  
 

 



Maria Splitt  Only for informational purpose, will not be replaced in case of changes Print Date:  4/03/2013 4:08 PM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
2003782 4 551814 Slitting machine DCH 180-SL 230V  

RUS
15.06.2012 USD / 350327 / * / G 6/6

  
 

 


